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QUESTION 1

Which two statements are true about Declarative Expression rules? (Choose two.)
A. They can perform a computation

B. They can constrain a property to a range of values.

C. They can execute an Activity upon creation of a work object.

D. They can display the result of a Decision table

Correct Answer: AD

QUESTION 2
The Application Accelerator has finished running.

Which of the following three components are included in the resulting Application Document by the Documentation
wizard? (Choose three.)

A. RuleSets

B. Business Use Cases
C. Work types

D. User Interface screens
E. Project Plan

Correct Answer: ACD

QUESTION 3

Which standard harness rule is used to display the Take Action options available to the user responsible for processing
the work object assignment?

A. Review
B. Perform
C. Confirm
D. Reopen

Correct Answer: B




QUESTION 4

A decision needs to be made about whether to issue a health insurance policy based upon the following properties:
Age, Gender, Smoker, Alcohol Use, and Pre-existng Conditions. Each property is evaluated for each of ten conditions.
Which Decision rule type is best to use?

A. When Condition

B. Map Value

C. Decison Tree

D. Decision Table

Correct Answer: D

QUESTION 5
What is the result of clicking the Where-am-I () icon on a work object form?
A. The user\\'s worklist is displayed

B. The user\\'s Organization, Division, and Unit information from the clipboard is displayed within a separate XML
window

C. The user is directed to the Pega Developer Network (PDN) website

D. The Visio diagram of the current flow rule is displayed in a separate window with an arrow marking the current
assignment

Correct Answer: D

QUESTION 6

What does "Build For Change(r)" mean?

A. Build applications without change control, in order to complete projects more quickly

B. Launch applications as soon as possible so that performance testing can be done in Production

C. Build applications that are more easily adaptable due to inevitable business change

D. Business architects initially build PRPC applications and system architects subsequently change them

Correct Answer: C

QUESTION 7

When an Assignment SmartShape specifies the standard assignment type Worklist, yet the attached router SmartShape



references a ToWorkBasket routing activity, what happens at runtime?

A. The flow will be suspended and control will be transferred to the FlowProblems flow
B. The object will be routed to a worklist

C. The object will be routed to a workbasket

D. The work object will display an error and not be created successfully

Correct Answer: A

QUESTION 8

Which of the following terms refers to a queue of open assignments that are not associated with an individual operator?
A. Worklist

B. Workbasket

C. Gadget

D. Urgency

Correct Answer: B

QUESTION 9

What types of correspondence are supported by PRPC? (Choose four.)
A. Email

B. Letter

C. SMS Text

D. Pager

E. Fax

Correct Answer: ABCE

QUESTION 10

Given the following Work Parties rule,



Role Party Class Party Prompt model VODE? Required 7

1. Customer Data-Party - Cuslomer Cutlomer el aulll ustomer = =
2. Originator Data-Party- Operator Operator Currentperator r r
3. Interestid Data-Party-Person NewParty = r

Which role(s) display(s) by default when a user creates a new work object?
A. Customer only

B. Customer and Originator only

C. Interested

D. Customer and Interested only

Correct Answer: D

QUESTION 11

A requirement is a condition or capability needed by the stakeholder to solve a problem or achieve an objective.
A. True

B. False

Correct Answer: A

QUESTION 12

Review the following rule.
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A work object with an urgency value of 10 reaches an assignment with this service level rule attached. After three hours
have passed, the urgency value of the work object will be .

A. 10
B. 20
C.23
D. 25
E. 28

Correct Answer: C
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